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 3. The velocity-time (v-t) graph for an object travelling along a straight line is shown.
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Which row in the table shows the acceleration of the object during the 8·0 s and the 

displacement of the object at 8·0 s?

Acceleration (m s−2) Displacement (m)

A  −0·63 100

B  −0·63 140

C  −1·9 100

D  −1·9 120

E  −3·1 140

 4. A pulling force of 500 N is applied to a 60 kg block on a slope as shown.
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40°

The maximum acceleration of the block is

A 2·0 m s
−2

B 5·4 m s
−2

C 6·3 m s
−2

D 7·5 m s
−2

E 8·3 m s
−2.
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